[50.80]

©2.000
[2.29] Bolt Circle
.090 .
J—
_ H Q6 \\\& [36.83] ‘
/ \ @ 1.450
b s / ol 1 \J‘Bon Circle  [64.77]
1,000 \\M 2.550
] R | [28.58]
\K(?X{\ ©®1.125
2X VersaPlanetary
Assembly Screw 2X #10 Screw
Access
4X #8 Screw
[6.22]
245
‘ T
I O i
[63.37] i O
2.495 O
[32.13] [69.72]
[12.70] | O 1265 2745
.500 (P o o
w. AN
_|[25.40] |
10X #8 Screw 1000 6X #10 Screw

Description

VersaFrame 1" Wide VersaPlanetary Parallel Mount

Dwg No

Web-WCP-0868

Project

FIRST Robotics - FRC

Sheet 1 of 1

Release

11/29/2022

ALL DIMENSIONS ARE IN INCHES [MM].

WWW.WCPRODUCTS.COM




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


